Teleological/Design Argument Plan

(a) What is the teleological argument, and what are its strengths and weaknesses?
Introduction

One sentence summary of the argument

It is a posteriori.  This means….because…

It is inductive.  This means…. Because…
Paley’s Argument

· Imagine that you found a watch on a moor

· You would conclude it had a designer because it obviously had a purpose 

· Things on Earth have purpose 

· Therefore, we should conclude that things on Earth have a designer

Strengths:

· Valid, and prima facie true

· Uses the principle ‘like effects have like causes’ (Hume), which is in itself a sound principle

Weaknesses

· Evolution can explain the emergence of purpose without reference to a designer

Tennant’s Aesthetic Argument

· Evolution would only make efficient things

· Efficient things aren’t beautiful

· So beautiful things cannot have been created by evolution

Strengths

· Is consistent with evolution, as Tennant understood it

Weaknesses

· It is not consistent with a more modern understanding of evolution

Weakness of Analogical Arguments in general 
· They all rely on the principle that like effects have like causes

· They all try to convince us that the universe has been designed

· The universe is very complicated

· Very complicated things tend to have lots of designers and builders, and in our experience they are all humans
· So, according to the principle ‘like effects have like causes’, the universe has lots of designers and builders, all human-like
Tennant’s Anthropic Principle

· It is unlikely, and fortunate, that the universe would be able to support human life
· Unlikely, fortunate things tend to be caused by design
· Therefore, the universe has been designed to support human life
Strengths

· Consistent with Science
· Relies on probabilities, rather than analogies
Weaknesses

· It assumes there is only one universe
(b) Consider the view that the weaknesses of the arguments outweigh the strengths

Introduction

There are two types of teleological argument; analogical and probabilistic
Both, if they work at all, leave us with a choice; 

(a) One all-powerful God vs. many human-like Gods

(b) One God and one universe vs. No God and lots of universes

To evaluate the argument, we need a way to decide between these two choices
Ockham’s Razor


This is the claim that you shouldn’t ‘multiply entities before necessity’ in order to solve a problem.  It is often understood as meaning the simplest argument is the best.  

A choice: Finish you essay using either option A OR option B
ESSAY OPTION A


Say which of the choices you think is simplest and conclude accordingly

ESSAY OPTION B

· Swinburne says that since the options with one God in them have a numerically smaller number of entities, they are the simplest answer and we should favour them

· Atheists would say that the options with one God in them have a being that is much more metaphysically complicated, and that was the sort of entity Ockham wanted to avoid.  The other answers have more things but they are still simpler

· So the effectiveness of the argument depends on how you interpret ‘simple’.

· Say which way you interpret ‘simple’ and conclude accordingly
